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M.A. (Second Semester)
EXAMINATION, May-June, 2022

SOCIOLOGY
Paper Sixth

(Classical Sociological Thinkers)

Time : Three Hours] [Maximum Marks:80

   
Note : Attempt all sections as directed.


(Section-A)

 
(Objective/Multiple Choice Questions)

(1 mark each)

  
Note : Attempt all questions.

  
Choose the correct answer:

P.T.O.
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1.    

(A) 

(B) 

(C) 

(D) 

Max Weber was the scholar of which country?

(A) Germany

(B) France

(C) England

(D) Italy

2.   

(A)  

(B) 

(C) 

(D)  

Bureaucracy is an example of which type of authority?

(A) Logical legal

(B) Wondrous

(C) Traditional

(D) None of the above
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3.  

(A)    

(B)    

(C)     

(D)  

Which of the following is an element of bureaucracy?

(A) Continuity of government work

(B) The power was limited by certain rules

(C) Monitoring the implementation of works

(D) All of the above

4.          


(A) 

(B) 

(C) 

(D)

How many religions of the world have been selected by
Weber under the sociology of religion

(A) Four

(B) Five

(C) Six

(D) Seven
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5. 


(A)  

(B)  

(C) 

(D)  

By what other term is dialectical materialism addressed?

(A) Scientific materialism

(B) Class struggle

(C) Socialism

(D) None of the above

6.        

(A) 

(B) 

(C) 

(D)  

What kind of society does Marx envision to form?

(A) Socialist

(B) Democratic

(C) Officers

(D) Classless
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7.         

(A)    

(B) 

(C)    

(D)   

Which book is called the worker's Bible?

(A) The poverty of philosophy

(B) Capital

(C) Value, price and profit

(D) The German idiology

8. 'The Poverty of Philosophy' 

(A) 

(B)  

(C) 

(D) 

Who is the writer of book 'The Poverty of Philosophy'?

(A) Weber

(B) Karl Marx

(C) Durkheim

(D) Parsons

P.T.O.
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9. 


(A) 

(B) 

(C)  

(D) 

What does the history of all societies symbolize accord-
ing to Marx?

(A) Capitalism

(B) Equality debate

(C) Class struggle

(D) Democracy

10.          

(A) 

(B) 

(C) 

(D) 

Who is the exponent of the theory of basic instincts of
craftmanship?

(A) Veblen

(B) Durkhiem

(C) Pareto

(D) Parsons
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11. 

(A) 

(B) 

(C) 

(D) 

The canon of conspicious consumption is related to which
scholar?

(A) Durkheim

(B) Merton

(C) Veblen

(D) Weber

12.     

(A) 

(B) 

(C) 

(D) 

Which scholar has considered humans to be controlled
by habits?

(A) Pareto

(B) Compte

(C) Merton

(D) Veblen

P.T.O.
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13. 
   

(A) 

(B) 

(C) 

(D) 

Changes is physical condition occur as a result of tech-
nology or technological changes. Whose statement is
this

(A) Spencer

(B) Durkheim

(C) Merton

(D) Veblen

14. 'The Theory of Leisure Class'  

(A) 

(B) 

(C) 

(D) 

Who is writer of book 'The Theory of Leisure Class'?

(A) Durkheim

(B) Veblen

(C) Parsons

(D) Pareto



[9]

F - 395

15. Book 'Sociology of Science' 

(A) 

(B) 

(C) 

(D) 

Who is the writer of book 'Sociology of Science'?

(A) Veblen

(B) Merton

(C) Sorokin

(D) Pareto

16.   

(A) 

(B) 

(C) 

(D) 

Who used the reference group for the first time?

(A) Merton

(B) Hymain

(C) Pareto

(D) Durkheim

P.T.O.
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17.   

(A) 

(B) 

(C) 

(D) 

Merton is a sociologist -

(A) America

(B) Italy

(C) Germany

(D) France

18. 

(A) 

(B) 

(C) 

(D) 

Who gave the theory of Middle Range?

(A) Durkheim

(B) Compte

(C) Merton

(D) Pareto
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19. 

(A) 

(B) 

(C) 

(D) 

Parsons has considered society -

(A) Situation

(B) The arrangement

(C) Group

(D) Role

20. 


(A) 

(B) 

(C) 

(D) 

How many major form of social structure has the Par-
sons mentioned?

(A) Four

(B) Five

(C) Six

(D) Seven

P.T.O.
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

Section-B

  

(Very Short Answer Type Questions)

(1.5 marks each)

   

Note : Answer all questions in 2-3 sentences.

1.  

How many types of reference groups have been given by
Merton?

2.   

What is the main feature of Merton's paradigm?

3.   

How many types of motivations has the Parsons given?
Write the name.

4. 
 

How many types of institutions have been mentioned by
the Parsons related to the social system?

5.        

How many types of social action have been given by
Weber?
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6.   

How is the class born according to Marx?

7.  

What is alienation?

8.    

What is social action?

9.     

Write the characteristics of leisure class?

10.     

State any one difference between the principles of Marx
and Veblen?



(Section-C)

  

(Short Answer Type Questions)

(2.5 marks each)

     

Note : Answer all questions in 75 words.

1.    

Write the characteristics of reference group.

P.T.O.
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2.   

What is relative deprivation?

3.    

Write difference between manifest function and latent
function.

4.       

Explain the Parsons's type of value.

5.   

What is Calvinism?

6.    

Into how many parts has Marx divided history?

7. 

Name the great religions studied by Weber.

8.       

Explain Weber's concept of power.

9.      

Explain the canon of conspicuous consumption.

10.      

What are the essential elements of social system?
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

(Section-D)

  

(Long Answer Type Questions)

(4 marks each)

     

Note : Attempt all questions in 150 words.

1.  

Explain the Pattern variable of Parsons.

OR

       

Describe the means or mechanism of social control of
Parsons.

2.       

Explain the Middle Range theory of Marton.

OR

       

Explain Merton's paradigm for functional analysis.

3.       

Explain the historical materialism of Marx.

P.T.O.
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 OR

       

Discuss the theory of surplus value of Marx.

4. 


Do you agree with the view that the cause of capitalism
is protestant ethic?

OR

        


Discuss the Karl Marx's materialistic interpretation of his-
tory.

5.        

Explain the Veblen's theory of leisure class.

OR


Explain the concept of social change of Veblen.


